3=7/16 X2 BOLTS-A
6=7/16 SAE WASHERS-B
3=7/16 LOCK NUTS-C
2=5/16 X 2 3/4 BOLTS-D
4=5/16 SAE WASHERS-E
2=5/16 LOCK NUTS -F
2=1" PLUGS-G

I ————— =
™

} STRONG SMIVIADE

BY SAVANT MANUFACTURING, INC

www.savantmfg.com

# 568

REAR BOTTOM SCREENED CARRIER.




